3. “An increase in the government budget deficit would cause a surplus of
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interest rate.”
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Is the above statement true or false? In your answer, please draw a
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¥—8 #£—& budget deficit on the interest rate and the equilibrium quantity of loanable
funds.
4. “Improvement in farm technology which increases the farm productivity
EEFR can be bad for farmers.”
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1. If a small country imposes a tariff on an imported good, domestic sellers
will gain producer surplus, the government will gain taniff revenue, and
domestic consumers will gain consumer surplus.

5.“Reducing tax rates would increase tax revenues.”

Is the above statement true or false? What is the major underlying

Is the above statement true or false? Please draw a graph to show the assumption you need to make to draw the conclusion? In your answer,
effect of international trade on an importing country, and then the effect of illustrate on three supply-demand diagrams how the size of a tax (small,
tariff imposed on this imported product. In addition, make a table to ' medium and large) can alter the tax revenue and deadweight loss.

explain the changes of consumer surplus, producer surplus, government
revenue, and total surplus before and after the tariff. Is there a deadweight
loss?

2. “Efficiency wages create structural unemployment.”
“Firms might offer efficiency wages in order to attract a better pool of
applicants.”

Are the above two statements true or false? In your answer, explain the
theory of efficiency wage, give 2 to 3 underlying reasons to explain how
the efficiency wages might work.






